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Extra copy of Fig. 1: Consolidation curve for question 2.
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Extra copy of Fig. 2: Consolidation curve for question 2.
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Most popular question, with all students attempting it. Students displayed good
knowledge of basics and were able to derive soil parameters and calculate
settlements. Very few students attempted to calculate the coefficient of consolidation
in unloading.
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Students confidently calculated the stresses with depth and identified the boundary
conditions. Only a portion of the students recognised that water pumping will create a
decrease in pore water pressure which varies with depth. In the calculation of settlements a
few students did not recognise the overconsolidated vs normally consolidated regimes.
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A fairly unpopular question on plasticity mechanisms only tacked by 14 students. In general the candidates understood what
was required and how to tackle the problem. There were several very good solutions. The main mistake made was in invoking
mechanisms that were not compatible for the upper bound or rotating stresses between the two upper surfaces of the anchor
for the lower bound rather than rotating stresses to the unloaded base of the anchor.
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A popular question tackled by almost all candidates. Overturning of the wall was generally well tackled. Many students in part ii
did not explicitly determine whether the wall might slide and hence whether the combined V-H envelope was applicable. Wall
structural failure was often suggested in part iii which is a valid answer, few thought of global failure beneath the wall. The
influence of water was well handled, some considered the water table to be level across the wall rather than following the wall
surface, marks were still given for good discussion with this reading of the problem.
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